Q.6 For areaction. A = P, the plots of [A] and [P] with time at temperatures 77 and 75 are given below.
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of nK at Ty to InK at T is greater than T2/Ti. Here H. S. G and K are enthalpy. entropy. Gibbs energy and
equilibrium constant, respectively.)

(A) AH® <0, AS® < 0 (B) AGE < 0, AH® >0
(C) AGO < 0, AS® < 0 (D) AGP < 0, AS® > 0
Sol. A, C

AG" =-RT nK_. AG’ <0

K, T, |

InK, ' T, '

S
KTq

= K, <K, (exothermic)

AH" < 0, since (P) at T < at T}

AG® = AH" - TAS?

TAS? = AH? - AG?
_AH'-AG"

AS° — (AH)>(AG")

ASY <0
Also, -TInK; <-T,InK; 1l

AGY < AGY,
AH§ ~TAS) < AHS - TAS
It is possible only if AS” < 0.




